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QUESTION 1

When working directly with SOAP, which two statements are true about the encoding of compound values? (Choose
two.) 

A. Compound values cannot be encoded. 

B. A compound value may NOT contain other compound values. 

C. Members of a compound value are encoded as accessor elements. 

D. Accessors with names that are local to their containing types have unqualified names. 

Correct Answer: CD 

 

QUESTION 2

Given the resource class: 

Choose the fragment that a client could use to request "/res/value" using its JSON representation (Choose one): 

A. WebResource resource = client.resource("/res/value"); Value val =
resource.accept("application/json").get(Value.class); 

B. WebResource resource = client.resource("/res/value"); Value val =
resource.type("application/json").get(Value.class); 

C. WebResource resource = client.resource("/res"); Value val =
resource.accept("value").type("application/json").get(Value.class); 

D. WebResource resource = client.resource("/res/value"); Value val = resource.get(Value.class); 

Correct Answer: A 

 

 

QUESTION 3

Choose the option that best describe the deployer\\'s choices, when deploying an EJB that is also exposed as a
RESTful web service using JAX-RS (Choose one): 

A. The EJB can only be deployed to a web container, since RESTful access to the EJB requires a web container to
support the HTTP interaction needed. 
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B. The EJB can be deployed to any EJB or web container that would support local references to the EJB from the JAX-
RS runtime in the ejb container. 

C. The EJB can be deployed to any EJB or web container that would support local references to the EJB from the JAX-
RS runtime in the web container. 

D. The EJB can be deployed to an EJB or web container that is visible to the JAX-RS runtime, even on an application
server separate from the JAX-RS runtime, since EJBs support local or remote interactions via RMI. 

Correct Answer: C 

 

QUESTION 4

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.) 

A. DOM 

B. StAX 

C. JAXM 

D. SAAJ 

Correct Answer: AB 

 

QUESTION 5

Which two statements are true about creating a Web service with JAX-WS? (Choose two.) 

A. Stateless Web services must be created with HTTP servlet endpoints. 

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain. 

C. All Java-based endpoints share a common packaging model. 

D. EJBs can serve as endpoints if hosted in a container with runtime and service support. 

E. JAX-WS supports creating services from source and compiled code without a WSDL. 

Correct Answer: DE 
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